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1) Round 27.4852 to 2 significant figures. || 2) 989 - 873 3) 35x 100
Answer: Answer: Answer:
4) 32 x 1000 5) 869 - 625 6) Round 13.283 to 2 significant figures.
Answer: Answer: Answer:
7 961 - 890 8) Round 3.74816 to 2 significant figures. 9) Round 14.494636 to 1 decimal places.
Answer: Answer: Answer:
10) 10000 + 1000 11) 21 x 100 12) 33000 + 1000
Answer: Answer: Answer:
13) Round 24.1670251564 to 8 14) 997 - 950 15) Find perimeter of
significant figures. square having each
s side () equals 228 in
s
Answer: Answer: Answer:
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16) 15x 10 17) Round 25.31967771 to 2 decimal 18) Find perimeter of
places. sguare having each
s side (s) equals 495 in
5
Answer: Answer: Answer:
19) Round 23.70015 to 2 significant 20) Find perimeter of 21) Round 22.94295 to 3 significant
figures. b rectangle having figures.
sidesa=564m
a andb=554m
Answer: Answer: Answer:
22) Find perimeter of 23) Find perimeter of 24) 7x10
b rectangle having b rectangle having
sidesa=290m sidesa=776 m
a andb=172m a andb=762m
Answer: Answer: Answer:
25) Find perimeter of 26) 49 x 1000 27) Find perimeter of
b rectangle having sguare having each
sidesa= 713t s side (s) equals 760 in
a and b =203 ft
s
Answer: Answer: Answer:
28) Find perimeter of 29) 4000 + 100 30) Round 0.919 to 2 significant figures.
sguare having each
s side (s) equals 120 ft
s
Answer: Answer: Answer:
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31) Find perimeter of
square having each
s side (s) equals530in

Answer:

32) Find perimeter of

sguare having each
s side () equals 168 m

Answer:

33)  21x100

Answer:

34) 34000 + 1000

3B)  977-972

36) 30000 + 1000

sidesa=935m
a andb=541m

sidesa=989 cm
a and b =956 cm

Answer: Answer: Answer:
37) Find perimeter of 38) Find perimeter of 39) Round 0.687632 to 1 significant
b rectangle having b rectangle having figures.

Answer: Answer: Answer:

40) Find perimeter of 41) Find perimeter of 42) 660 - 312
b rectangle having square having each
sidesa= 714 ft s side (s) equals 487 in
a and b =270 ft
s

Answer: Answer: Answer:

43) Find perimeter of 44) Round 6.8575 to 1 significant figures. 45) 558 - 239
sguare having each
s side () equals 272 in
s
Answer: Answer: Answer:
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46) 28x 10 47) Find perimeter of 48) Find perimeter of
b rectangle having sguare having each
sidesa= 795 ft s side (s) equals 883 ft
a and b =730 ft
5
Answer: Answer: Answer:
49) Find perimeter of 50) 28 x 1000
b rectangle having
sidesa= 818 ft
a and b = 656 ft
Answer: Answer:
Total: / 50
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1) 27

8) 3.7

15) 912in
22) 924m
29) 40

36) 30

43) 1088in
50) 28000

2) 116

9) 145
16) 150
23) 3076m
30) 0.92
37) 2952m
a4)7

3) 3500

10) 10

17) 25.32
24) 70

31) 2120in
38) 3890cm
45) 319
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Answers:

4) 32000 5) 244 6) 13 771

11) 2100 12) 33 13) 24.167025 14) 47

18) 1980in 19) 24 20) 2236m 21) 22.9

25) 1832ft 26) 49000 27) 3040in 28) 480ft

32) 672m 33) 2100 34) 34 )5

39) 0.7 40) 1968ft 41) 1948in 42) 348

46) 280 47) 3050t 48) 3532ft 49) 2948t
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